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is made of 50% high grade rag stock
with a WATER RESISTING surface sizing.
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Please Return to

City of S

Room 268 |

an Diego Water Dept.
Civic Center

Telephone Main 5161

TRIGONOMETRIC FORMULZE

7 - N 3 o4
\
Right Triangle L——‘Obllque Triangles
Solutlon of Right Trunzzu

. a ¢ ¢
For Angle A. sin = Shcos= —,tan= 3,cot=;.wc=3. cosec = —

Given Required

Y. 52
a b A B, lunA=%=co|B,c-\/a’:FE’=a\/1+F

Al
ac |4 Bb| sind="2=cosB b= yEFNC—a =c\/l——:'7

A a B, b ¢ B=90°—A,b =acotd,o=

a
sin 4.

b
cos A.
B=90°—A,a =c¢sind,b=o0cos 4,
dSolutlon of Oblique Triangles

Given Require asin B 5 asin C
4, B,a b ¢ C b=7,0=180—(d+3)n0=‘in‘4

A " asin C
A, a, b | B €| sinB= ": ,C = 180 ——-(A+B),c=—$z

= (a— btnn}(A—I—B)
a+b

A, b B a c B=90°—A4,a =btan 4,¢c=

A, c B a b

a b C| A4 Bc| A+B=180°—C,tan}(4--B

= asin O
sin A

ESET Y o =)

sin}B= V,C’: 180°—(A + B)

b+c
2
besin A
2
Sl a? sin B sin O
2sin 4

REDUCTION TO HORIZONTAL

Hori i dist: =Slope d d by the
cosine of the verticd angle. Thus :lopedlst-nee =319.41t.
Vert. angle =5° 10’. From Table, Page lx. cos 5° 10/=
.9850. Horizontal distance =319.4X.9850=318.00 ft.
Horizontal distance llso= Slope distance minus sloj
distance times (1—cosine of vertical angle). With the
inm let“;e! - n} egn cgme%.t’nl%,enmplle. the follow;~
ntal ncresu S O n sine =995, 1—.9850=.004
Horizontal distance 31045 0041=1.31. 319.4—1.91=818.

When the rise js known, the horizontal distance is nnpmximuely —the slope dist-
ance less the square of the rise divided by twice the slope distance. Thus: rise=14ft.,
slope distance=302.8 ft. Horizontal di: 302.6— 2‘; Zongs =302.6—0.32-302.28 ft.

, area = \/s(s—a) (8—0) (s—e¢

area =

MADE IN U. 8. A.




